Material

No. Plan Article Quantity

1 X002124 1992404 2

2 X002126 1992429 2

3 X002138 1992416 2

4 X002164 1488200 2

5 X002170 1992792 2

6 X002282 1992854 2

7 X003965 1901430 2

8 X005556 1903947 1

9 X005557 2018500 2

10 Y002209 1389600 2

11 Y021906 20191.. 2

12 M5 DIN125 A 1001550 2

13 8mm 1001637 2

14 M6 DIN985 1001680 4

15 M6x35 1006057 2

16 M6x50 1006997 2

17 M6x20 1006999 2

18 M6x12 1008492 2

19 1/4"-20x1-1/2" inox 1912025 2

20 M6 Type S DIN17222 1912027 2

21 22 1990648 2

22 M5 DIN986 1992804 2

Only left side depicted
—_—
O
—_\
N
—
—_—
(@)
Plan No.
SET V40 BZ7/BZ8 ECLIPS X4 2001019/ A
Scale:  3'H Drafted Verified Confirmed \\\V/’/’
Date 28/01/2016 | 28/01/2016 | 28/01/2016 UREREN
Initials T PA PJ Q00




